
 
© HEIDTS 2005-2013 IN-173 

 
 
 

Installation Instructions 
`67-’69 ALUMINUM BODY MOUNT KIT 

 

Please read these instructions completely BEFORE starting your installation! 
Your HEIDTS Hot Rod Shop Camaro Subframe Connectors contains the following items: 

 

4) Lower Body Mount (2.18” OD) 
2) Upper Body Mount, Rear (2.18” OD, 1.0” Tall) 
2) Upper Body Mount, Mid (2.5” OD, 1.15” Tall) 
2) Lower Core Support Mount (2.5” OD, .9” Tall) 
2) Upper Core Support Mount (2.18 OD) 
4) 5/8 X 3” Bolts 

4) 5/8” X 2-1/2” OD Washer 
4) 5/8” Nylock Nut 
2) ½” X 2-3/4” Bolts 
2) ½” X 2” OD Washer 
2) ½” Nylock Nut

 
NOTE: Spray all body bolts with brand name penetrating spray the day before you plan to work 
on the vehicle. 

 
1. Remove the body bolts and raise the body off the subframe, being careful not to twist or stress 

the body in any way. 
 

2. Remove the existing bushings and replace with the aluminum bushings using the pictures below 
as a guide. 
 

 


